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Name : ________________________________

1) (2 pts) Herman Hollerinth designed a punch card system for which U.S. government Bureau?

U.S. Census Bureau

2) (2 pts) ENIAC, the computer the U.S. used during World War II to calculate missile trajectories used what type of component that acts like a switch?

Vacuum tube

3) (2 pts) In 1954, Texas Instruments created a way to produce what component commercially?

silicon transistor

4) (2 pts) In what format did the Altair 8800 provide its output?

A sequence of red light bulbs

5) (3 pts) Name one reason that PC's are more prevalent than Macintosh's.

While Apple kept its design proprietary, IBM released its design (except for the BIOS) to competitors, who could then create their own PCs by emulating the operations of IBM's BIOS instead of directly copying it.

6) (3 pts) Give one common use of a removable drive, such as a zip drive.

Store a backup of files or to transport large amounts of data from computer to computer.

7) (3 pts) Why would an AGP Expansion Slot be desirable?

It allows a graphics card fast access to a PC's main memory. This is desireable since graphics functions are especially computationally intensive.

8) (3 pts) What is the general mechanism by which a CD-ROM drive reads a CD?

A laser beam is shot at sections of the disk and based on the way the laser beam is reflected, either a 0 or 1 is read. (A 0 reflects right back while a 1 deflects to the side.)

9) (3 pts) Contrary to popular belief, a Kilobyte is not 1000 bytes, but is really 1024 or 210 bytes. Similarly a Megabyte has 210 Kilobytes and a Gigabyte has 210 Megabytes. Suppose that in the near future, a "quick disk" is invented that stores 384 Megabytes of data. Assuming that a "quick disk" costs 36 cents and that a DVD that can store 8 Gigabytes of data costs $1.92, how many times more data can the DVD store than the "quick disk" for the same amount of money?

Amt. of memory for a dollar of a quick disk = (384/1024)/.36 

Amt. of memory for a dollar of a DVD = 8/1.92

Answer = (8/1.92)/ ((384/1024)/.36) = (8*210*36)/(192*384) = (9*215)/(3*26*3*27) = 4

10) (2 pts) What component of the printed circuit board helps reduce its manufacturing cost?

metallic traces

11) (1 pt) What is Heather Stevens' last name? Stevens

